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1. e O feda R At At sfigen S S oo st
e AVREES! S e i o quad oAt T QY SAegA S
(1) FIETE A
(2) digeT Aol T
(3) weE Wt fae
(4) €.9.9M9H
Lokmanya's son Shridharpant Tilak invited the wrath of the orthodoxy of Pune by
inviting the cultural troupe Shrikrishna Mela which was founded by for a

performance in the Tilak’s residence.
(1) Keshavrao Jedhe

(2) Pandurang Nathuji Rajbhoj

(3) Mahadev Shastri Divekar

(4) L.B. Bhopatkar

2. foema sfewar 3. we& mmm, “Fie TARAH oI SRSl 9T SrE@ed aml
O Jqe1 hell, 01 I A6 g N Gudeeeran f9ar Sfausret geqT erebar e

T, ® fommEa Wi 2
(1) == YeHTs @) g, sEsw
(3) .. AR (4) SEWTE F

Noted historian Y.D. Phadke has commented, “Orthodox and pedantic writers
attacked him by pointing out his grammatical mistakes, but the ideas of human
rights and equality which formed the bedrock of his writings, could not be silenced
by them”. Who was this thinker ?

(1) Baba Padmanji (2) B.R. Ambedkar

(3) G.G. Agarkar . (4) Jyotirao Phule

3. Wmmmmmmwmm?

(1) waRg @ fovega

(3) S 4 oS

The editors of which of these newspapers were not jailed for writing against the
British government ?

(1) Pratod (2) Vishwavrutta

(3) Jnyanprakash (4) Desh Sevak

o] SETATS! ST / SPACE FOR ROUGH WORK ' ' - ' P.TO.
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4. 3 faun Fesfyds amE Ao gl P
9. HERISIAS eRIBIEl SIS SR HrEge= aehl e,
. ARSI Aah=aHT HITHIHET ol HIerEt e § o Serarsr 8.
gt I
(1) A, 7 30 & & vrAwEh Hay Tae faum e,
(2) 313 TG MR, T F < F AR,
(3) 31 nfor & = qRumW & AR,
(4) ¥ 97 IROW ¥, T ¥ 97 IRonw % IR,

Read the sentences carefully and choose the right option.

a. Cotton prices in Maharashtra crashed after the end of the American Civil War,

b.  The British government gave no tax relief in spite of a drought in Maharashtra.

c.  Farmers in Maharashtra were forced to take loans from the moneylenders and
went bankrupt.

Answer options:

(1) a, band ¢ are unrelated.

(2) aisunrelated. b is the cause of c.

(3) cis the effect of a and b.

(4) acauses b and b causes c.

5. 1912awﬂﬂﬁwg%u5ﬂmmaﬁémmmwﬁm,%ﬁwmaﬁ

R i e AR
(1) HIA HelH HTHG (2) | g
(3) HEWE JA4X @H (4) wHAT TE

The sixth Session of the Muslim League in 1912 had invited as guests, Muhammad
Alj Jinnah, Bishan Narayan Dhar and :

(1) Abul Kalam Azad (2) Sarojini Naidu

(3) Mohammad Ameer Khan (4) Kamala Das

6. foue amim anfo e Pl ar qemiat W 2vm ‘A e’ R witgs vl Sefes ?
1) dte e @) T e
(3) et =d (4) Tad =4
Who published a monthly called ‘Samaj Swasthya’ dedicated to the issues of women’s
health and family planning ?
(1) Dhondo Keshav Karve (2) Raghunath Dhondo Karve

(3) Dinkar Karve (4) Irawati Karve

FeEg] FHETETEI oA / SPACE FOR ROUGH WORK
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30 fedier, 1906 st Jegn gftew vt T wehl, deg e AA <1 faamea
sfeaTAmaE i sfafd wwa o #r.

(1) v T |/ (2) wftaw faaor aftsg

(8) Nftew g (4) wme gfem s

When the Muslim League was founded on 30 December, 1906, the members had
gathered in Dhaka for the 20t Session of the

-_—

(1) Indian National Congress (2) Muslim Education Congress
(3) Muslim National Congress (4) Bengal Muslim Congress

8.  TIEH @l SN WeuHal foaear avrEeHt 1867 wed o) AEdEe! T
JOTIE T A '
(1) TR 9igT TESH (2) THRM YIGUT TEEH
(3) roEm IWd fww (4) WIS WEASA
After the demise of the Paramahamsa Sabha, its members founded the Prarthana
Samaj in 1867 with __ as its President.
(1) Dadoba Pandurang Tarkhadkar (2) Atmaram Pandurang Tarkhadkar
(3) Narayan Waman Tilak (4) Bhau Mahajan

9. 1898 - 99 wed Teied w9 famea anfty HeradfasE T TeHiat SR 96 grael! R S

AEFSUA _ I Ioord A
(1) =t e (2) i w3A
(3) weara fiaw (4) wie dead

In 1898-99, the two plays named Bandh Vimochan and Lokmatvijay were
proscribed because they allegorically referred to .

(1) Justice Ranade (2) Lord Curzon
(3) Lokmanya Tilak (4) Lord Sandhurst
10. EER=AT YT Al EEd ¥ sifde T = A e EWie 3 wier (3R
Weeh=a1, ST SRrat 99 1) A M gE w. |
(1) uer BeaEs (2) wEr HAfm fém
(3) WER WA TS (4) WER aRels f&m

, a revolutionary leader of the Bharat Mata Society of Lahore addressed
many meetings that began with the song, ‘Pagdi Sambhaal Oh Jatta " (Oh Peasant,
take care of your turban/self-respect !).

(1) Sardar Trilochan Singh (2) Sardar Ajit Singh
(3) Sardar Bhagat Dayal © (4) Sardar Tarlok Singh

FEEHT SIS SN / SPACE FOR ROUGH WORK P.T.O.
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11. Gﬁ@?a@(mﬁaaﬂﬁlwmm); s
: st
;. mﬂgt—e}a 15 i qugm
4. Igees 17 i, wREEER gaEd
®. TG 18 iii.  HgWETE e
3. IeRg 14 v,  FEgTEaEl §HTE
v.  utfi<h gama

ot 3w ; '

H ad =+ k-
(1) iii v il i
(2) v v i il
(3) 1 iv i ii
(4 v il iv i
Match the pairs (Articles and Fundamental Rights) :

L} A! ‘B’

Articles Fundamental Rights
a. Article15 i Abolition of Titles
b.  Article 17 il, Equality before Law
c. Article 18 iii.  Lack of Discrimination
d. Article 14 iv.  Abolition of Untouchability

v. Equality of Opportunity

Answer options :

a b c d
(1) iii v il i
(2) v iv i iii
(3) 1 iv 1 i
4) v iii iv i

12. QEAE) PG AT TSI GenE s (Fded) Aed ?
A. WRATS FEVIEE, Thal MU THIHA €T TG F F 5T GO S0,
¥, GfeuET qem s a8 Tgeas anfin apria e simet s
%, fagmfrs gfiem anfo aeaamar, wve gt faswfaa wo,
aiat$ arg wig faer.
(1) o 2 wRAAMF 3) wRIAMF (4) A wE
Which of the following is/are Fundamental Duties of the Indian Constitution ?
a. To respect and protect sovereignty, integrity and unity of India.
b. To abide by the Constitution and respect the National Flag and National
Anthem.
c. To develop the scientific temper and spirit of inquiry.
Select the correct code from the above.
(1) Onlyb (2) Onlyaande (3) Onlybandec (4) Allof the above

LT BIHTHIS) AT / SPACE FOR ROUGH WORK
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18, 3AVg YT NSEl.
(1) &, 1947 7ed WRaT=A1 Hium W U eaSrE AnrgeT e,
(2) Ffee fem AT 1946 =01 HaTa TINA Foled! WU AN WRATE! TSEREn
FrEtRd Fe.
(8) S, 1946 HEA TAT Feiod] WA WA W T Hewy ToRd,
(4) WaTem Wi Ti=aT IgUeA VST AAHA ST, T JA1G It Hell.

Select the incorrect statement.

(1) The design of the National Flag was adopted by the Constituent Assembly of
India in July, 1947.

(2) The Constitution of India was enacted by a Constituent Assembly set up under
the Cabinet Mission Plan 1946. _

(3) Mahatma Gandhi was not a member of the Constituent Assembly established
in June, 1946.

(4) Dr. Rajendra Prasad presided aver the inaugural meeting of the Constituent
Assembly of India.

14, GrEhet S R aaey @ g geE o 2
A = ¥ Jgawawm 5. Ueg EAR G
Taid I
(1) sRAAMIE 2) wRFAVME 3) FRATNT @) TN, TS

Which of the following subjects come under the Union List ?

a. Railway b. Warand Peace ¢. Police . d. Agriculture
Answer options :

(1) Onlyaandc (2) Onlycandd (3) Onlyaandb (4) Onlya,bande

15. @t faus faam o .

A T R WS SREH e STEaT.

A T g Fg T v fadinee wew o e AR,

F. T A TS TPIeiiers e .

Tl A faum(}) wrar ar/ama 2

(1) wwH (2) T F (3 FWaTEF (4) AT

Consider the following statements :

a. The Governor is the Executive Head of the nation.

b.  The Governor must be a member of Union or State Legislature.

¢.  The Governor submits his resignation to the President.

Which of the statement(s) given above ig/are correct ?

(1) Onlya (2) Onlyc (3) Onlybandc (4) Allofthe above
TOET PHIHIS! ST / SPACE FOR ROUGH WORK P.T.O.
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16, R whawrde fafaw el gefud -l @ -1 9@3 feden Jorde ava waia

Faen.
eI rdt-I1

A HEE T i. APrAS U=aEE
q.  TEdy SR ii. iR TeEe
. HH gy AT i, fsd o
T TSHATSN MO AR ded iv.  ofieeforare Usader
i = :

R | ® 3
(1 i iii i iv
(2 iv ii i iii
(3) ii iii v i
4) i i i iv

Match List-I with List-II and select the correct answer from the codes given below
related to different sources of the Indian Constitution.

List-1 List-11
a. Fundamental Rights i.  Irish Constitution
b.  Parliamentary form of Government ii. US Constitution
¢. Joint Session of the Parliament iii. British Constitution

d. Directive Principles of State Policy iv. Australian Constitution
Answer options :

a b c d
(1Y 1 iii 1 v
(2) iv il i il
3) i 11l iv i
(4) il i ii iv
17,  SRadH S e FrafEan e 3 ?
#, TR ufgd - nﬁmﬁ SRR
1. gifire fam - fofdg smen
% v mgE - oam odid anfar unndie weeerEh datta ww
8. ulifiedEm - gae faid s
gt I ; .
(1) w9 ¥, 9 30 =+ (2) I 9, H MY
(3) e 3, F A0 € (4) ol wd
Which of the following pairs are correctly matched ?
a. 1%t Schedule - - Allocation of seats of the Rajya Sabha
b. 3rdSchedule -  Oaths _ _
c. 6thSchedule -  Provisions relating to the administration of tribal areas in
Assam
d. 10th Schedule -  Anti-defection law
Answer options :
(1) Onlya,bandc (2) Onlyb,candd
(3) Onlya, bandd (4) All of the above

TR FTHTATS! ST / SPACE FOR ROUGH WORK
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wreltedeh For foum/A aRiE SR/ ?

W, v s afies ¥ anfemien U fadHseTe JeEgR S,

%, e i ufiiees § Tvaren wRiEd TeeT anRdiad TIE .
T I ' _

(1) SFAAAVE (2) SrAINMIF (3) BaAd (4 TC@wE

Which of the following statements is/are correct ? :

a. Chief Minister and the Council of Ministers decide the policies and implement
them in the nation, .

b. The Chief Minister and his Council of Ministers are collectively responsible to
the Legislative Assembly of the State, '

c.  Chief Minister and the Council of Ministers are the real executives of the State.

Answer options :

(1) Onlyaandb (2) Onlybandc (3) Onlyb (4) All of the above

19,

g FoF Al

(1) & AP S € AT T SR TEvTE JevEs q| T R,

(2) TUH ARE FET 7 Stk fawamge aifis TeeeRer gga .

(3) ®WH AT FEY B ACTHEAHE s AIUFER T FE.

(4) TuH AR e & it fRemaRar srure fedt g s U whiened e B,

Select the incorreet statement.

(1) The Uniform Civil Code is a necessary precondition for the successful
functioning of democracy.

(2) The Uniform Civil Code will wipe out sectarian politics in the world of
globalization. ’

(3) The Uniform Civil Code will wipe out the religious rights of minorities.

(4) The Uniform Civil Code will help the national integration by removing
contradictions based on religious ideologies.

20.

IR IRw < T et ST S Semtad woE Sl ?

(1) =»eH 263 (2) <HoH 283

(3) he 292 (4) +<heH 352

The Inter-State Council has been set up under which Article of the Indian
~ Constitution 7 |

(1) Article 263 (2) Article 283

(3) Article 292 (4) Article 352

FeeqT FTHTEIST SN / SPACE FOR ROUGH WORK ' P.T.O.
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21. WG GERRA O, 1950 ¥e oM SRR wemean =1 SreEETen e,
(1) Tsig 7461 \ (2) YA FIA AEE
(3) Q@R g 9 (4) YGRS g
In March, 1950, the Planning Commission was set up by the Government of India
under the chairmanship of
(1) Rajendra Prasad (2) Pandit Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel (4) Yashwantrao Chavan
22. o fawpmam amfes fdwe FHiv anga 2
A faem 4. T TP SEmid 918
%, Hd 8.  Hedl
gt 3A
(1) waa« (2) 3, 9=
(3) 3, ®aMrs (4) =l ad
Which are the Social indicators of economic development ?
a. Education b. Increase in GNP
¢c. Food d. Cleanliness
Answer options :
(1) Onlyb " (2) a,bandc
(3) a,candd (4) All of the above
23. IS YW, e, HERTS, AN, Alfbedrg i 3w weu € sy et
faerma fice= (HDI) fvfmed 3qm.
(1) 3I= (2) "=M 3) = (4) ded
Arunachal Pradesh, Karnataka, Maharashtra, Nagaland, Tamil Nadu and Uttar
Pradesh States fall in the HDI range.
(1) High (2) Medium (3) Low (4) Neutral
24. 73 nfor 74 g e FHATRN A= Gay AR,
(1) W 243 (2) TH 239
(3) i 143 (4) ™ 249
The 7374 and 74" Constitutional Amendment mostly related to
(1) Article 243 (2) Article 239
(3) Article 143 (4) Article 249
25. o7 frmar S wgrem Sk yRare fEeAEE . T 399 L
(1) 3= 2) = :
(3) A (4 ™
The objective of reduction in income inequalities was accordeda ____ priority
in Economic Planning of India,
(1) high (2) low
(3) =zero (4) neutral

e HITHIA! ST / SPACE FOR ROUGH WORK
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Ta=T TeETe demgan St adi=a e I BT,

(1) 8% (2) 6'5% 3) 1% (4) 16%
According to the Ninth Plan target of GDP, growth rate was .
(1) 8% (2) 65% 3) 7% (4 75%

27.

el ot/ fyum /s smz s /ama ?

#, o faeEre 63 Infeal FrEtdtd T SO 916 qEN 4-7 T 91 QT
AN HAGR.

7. anfds e uftear 97 Toem U Saw ardan o <Edt 3-5 eehugn & Tfd.

®. 63 quen PRl Fier W W e st e 4-8 T W FIeed es

™.

gt IW

(1) = anfer 9 (2) wad A

3) = anfn % A (4) wF B

Which of the following statements is/are correct ?

a. During the 63 years of economic planning, national income has increased at the
rate of 4-7 percent per annum.

b. The rate of increase in national income during the first three decades of
economic planning was as low as 3-5 percent per annum.

¢.  India’s per capita income increased at the rate of 4-8 percent per annum during
the 63 years of planning so far.

Answer options : : :

(1) Bothaandb (2) Onlya

(3) Bothbande (4) Onlyc

.11 TR, 2014 Ush wiEg ey T A - IRraE & Faw .

(1) e, wesdl, wiaar snfr Syl o= Fg

(2) frafa &

(3) <= &=

(4) ot fafmm ,

Sansad Adarsh Gram Yojana was launched on 11th October, 2014 with the objective
of : :

(1) Nucleus of health, cleanliness, greenery and cordiality

(2) Export Zone

(3) Import Zone

(4) Foreign Exchange

oo HETHIS! N / SPACE FOR ROUGH WORK P.T.O.
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29.  oIYEa S, sglea S, 9 wonw At onfi sevseaie waftd qeflardt wrefes o
fFramelt et sgm ST dieE TR, :
(1) gefrem fgomardt T HRiws
(2) U Anfrs fSen sfiimm
(3) U8 ¥id
(4) e mHt i fraey
The scheme for providing residential school at elementary level for girls belonging to
the SC, ST, OBC and Minorities is ;
(1) National Programme for Education of Girls
(2) Rashtriya Madhyamic Shiksha Abhiyan
(3) Sakshar Bharat
(4) Kasturba Gandhi Balika Vidyalaya
30. 1999 — 2000 T HIvAT T FNEAR THIVT T B 2 :
(1) wEnrsg (2) fen (3) fagu (4) it
Which State was more poverty ratio in 1999 — 2000 ?
(1) Maharashtra (2) Bihar (3) Tripura (4) Orissa
31. ™ TRUTHS G Hiord ad ?
¥, Iofem 3, I
. HR S g 9 F
Tty I
(1) wed 3 (2) wed & (8) @1 amftn v S (4) = 3ufor g gl
Which are the conventional sources of energy ? '
a. Hydroelectric b. il and gas
c. Solar energy d. Wind energy
Answer options :
(1) Onlya (2) Onlyb (3) Bothaandb (4) Bothcandd
32. et faue fasng =

A 2006 92 wrdE grnd glawn faeha St agifen (IPCL) = e e,

4. i g giew fad e waifda wga wrmg gt seearandt sessell wt
et fae [Eat e 7,

. fed, 2007 79 vl armym giam wehey foem frefiht gwam s,

e HIvr faue st 3md ?

1) sFmagR (2 daFIAH (3) AU F A (4 bawd

Consider the following statements :

a. The Indian Infrastructure Finance Company Limited (IIFCL) was set up in
2006. )

b. IIFCL provides short-term financing for infrastructure projects.

¢. The Indian Infrastructure Project Development Fund was launched in
December, 2007.

Which of the statements given above are correet ?
(1) Bothaandb (2) Bothbandc (3) Bothaandc (4) All of the above

FHTT HYTATST 1M / SPACE FOR ROUGH WORK
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Qrefierehl T e JAHIHT HEal 4d ?

H, SN Sl

1. fomsmd s

%, TSIS AHE

T UfeRm

gt I ;

(1) % A (2) ¥ afor = =
(3) = anft % 4= 4) wlawd
Which of the following energies is/are renewable ?

a. Commercial energy

b. Non-commercial energy

¢. Fuel wood

d. Petroleum

Answer options :

(1) Onlya (2) Bothaandb
(3) Bothbandc (4) Al of the above

34,

wrefter faum fammma o

¥, MATSA SANREEY 59 28 el AMHRAMIER AT 86 28 FTeT FeATJaR BT JHNTH
(TgATIi) BT ST 3R,

4, EER e Wie famanre sewta seftufia < areiaTe WRaTen e i .

&, gwmmmmmmzmwmmmeﬁm

gl oo fram/faud = s /enga ?

(1) o afor & St (2) ad d
(3) B A 4) SHH

Consider the following statements :

a. Shipping transport accounts for 59 percent of India’s trade by volume
and 86 percent in terms of value.

b. India currently ranks second only te China in terms of telephone networks.
c. To encourage telecom sector, the Government of India announced the National

, Telecom Policy in 2012.

Which of the above statements is/are incorrect ?

(1) Bothaandc (2) Onlyb
(3) Onlya (4) Onlye

ZeEY] PTATETS AR / SPACE FOR ROUGH WORK | P.T.O.
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35. 1994 =1 T Iefiehin Hwnst @refiedh wivear g gafig amea ?
. W T TR e e,
9. R WA A e,
®. 1996 7d ¥4 @2 TefeH Jaeh S,
3. mhw s s e .

gt 3™ ;
(1) %o 31 (2) %aa 9
(8) wed 3, § anfor & (4) 0w ud

Which of the following things are related to the National Telecom Policy, 1994 ?
a. Open to investment for Indians and foreigners.

b.  Open to investment for only Indians.

All villages connected to telephone service up to 1996.

d.  Free telephone service to rural areas.

P

Answer options :
(1) Onlya (2) Onlyb
(3) Onlya,bandc (4) All of the above

36. @l arEqEhr Hvial YT WH U Ieawa (GDP) Sihe i fae guifadt ¢

(1) = (2) T qEqH
(3) I 4ETH (4) waTE AEGH
Wﬁich of the following modes of transport shows largest percentage of share in
GDP?
(1) Railways (2) Road transport
(3) Water transport (4) Air transport
87. 2009 - 109fa Y= vt Rt @
(1) 53600 (2) 63028
(3) 63900 (4) 63974
Railway route length progress up to 2009 — 10 was o km
(1) 53600 (2) 63028
(3) 63900 (4) 63974

T HHTTS! AT / SPACE FOR ROUGH WORK
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38. 2008 — 09 IraT g Ghaamed fR Ue JAaUEH YAE _ FaHT gl
(1) T 5225 %R (2) T 5400 H&
(3) ¥ 6485 %A 4) ¥ 8989 &

In the year 2008 - (09, foreign direct investment flow in infrastructure was

(1) ¥ 5225 crores (2) T 5400 crores
(3) ¥ 6485 crores (4) T 8989 crores

39. T fammdier T& F9E hive s ?

A FwmEh dad 7. few=
%, forow fawrem 3. 3= dEgH @4
it 3= ;
(1) Sad A (2) 9 7 % S
(3) Tt uHdl TEl (4) wla &
Which are the major problems in road development ?
a. Slow-paced growth b.  Poor quality
¢.  Uneven distribution d.  High cost of transport
Answer options: _
(1) Onlya (2) Bothbandc
(3) None of the above (4) Al of the above
40, ot gfg=h dof, e Iegaman amER anft JEEd TN TEEEY ATE.
(1) TEE 3 3949m | |
(2) TEIE Grh glawr soim
(3) T St Iad

(4) <TEHE TBUEEEYT ITHIT

There is direct correlation between the degree of economic growth, the size of per
capita income and

(1) per capita consumption of food
(2) per capita consumption of facilities
(3) per capita consumption of energy

(4) per capita consumption of communication

AT HHETAIG! ST / SPACE FOR ROUGH WORK PT.O.
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e gunEgyia @reid fau fagme e

9. ™A &a1a A7 gl grlevam awen aidia o

. IEEd U qE QY hEtfad SoqE G il 3.

Fietdeh! it fae strar anga 2

(1) FAafragER 2 IssFIFA (3 FaFdE 4 FHath o

Consider the following regarding Economic Reforms :

a. The role of Government changed from the controller to the facilitator.

b.  The Government is committed to suitable reforms in the infrastructure sector.

c. The Government is committed to making Panchayati Raj Institution fully
functional.

Which of the statements given above are correct ?

(1) Bothaandb (2) Bothbandc¢ (3) Bothaandc (4) All ofthe above

42,

e GURIHGT= FIBT GHYFSHRS HPE Faaraid [diad! Erefietht St S
SFeTEER 'l ?

(1) 5% @ o9 ST

(2) @R T FAAed weled! a6

(3)  wfarh wrdtaien 3dft anfor fgesht qaavEhrh yfbe

(4) afte ad FRo

Which of the following are reasons of satisfactory balance of payments situation in
post-reform period ?

(1) High earnings from invisibles account

(2) Rise in external commercial borrowings

(3) Non-resident’s deposits and role of foreign investment

(4) All of the above reasons

fata wfsem &= (EPZ) w90 YEiardshl Hamell suamd e ?

(1) FH fafa &3 (AEZ)

(2) Y =49 9 @R &3 (FTWZ)

(3) faury anfdes & (SEZ)

(4) ¥ EEE & (FIZ)

In which of the following, Export Processing Zones (EPZ) have converted ?
(1) Agriculture Export Zones (AEZ)

(2) Free Trade and Warehousing Zones (FTWZ)

(3) Special Economic Zones (SEZ)

(4) Free Industrial Zones (FIZ)

Feed] HETATS! SR | SPACE FOR ROUGH WORK
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Erefie ™ fa=ma o .

¥ %o FEET IRAE W aauEhE gEata 2000 we 3ed.

4. 2015 WEA YR 7 Faitus W TaavEs TN HOMT 39 SN IR,

®. 2015 HEA IRA 63 TN STer Tehtd =V Hret.

Fhath Po/d amA see SR/emed 2

(1) %Fa A (2) wEa § (3) wEAH (4) aq 1 Infor §

Consider the following statements :

a. In India, foreign investment was introduced in 2000 under FEMA.

b. In 2015, India emerged as top destination in FDI.

c. India received $ 63 billion in FDI in 2015.

Which of the statements given above is/are incorrect ? )

(1) Onlya (2) Onlyb (3) Onlyec (4) Onlyaandb

46.

wrefter faum e o

A o Waks eft Fefeh Te 2004 - 2005 weA SEh.

a1 friqevms v womar 2002 - 2003 v=3 aeh.

F.  TE GUR RN T SEa, 2000 ueh e,

FhAtE Frdt faum st=w omd ?

(1) wmuafia (2) FRIANMF (3) TRANUSF (4) Ida @
Consider the following statements :

a. Guarantee Redemption Fund was established in 2004 - 2005.

b. Department of Disinvestment was set up from 2002 - 2003.

c. Expenditure Reforms Commission was constituted in February, 2000.
Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allof the above

Sohe! TEEATEL WA i feasft waned sheft 2

(1) 15tfiE, 1993 (2) 159, 1893
(3) 151, 1994 (4) 159, 1994
On which day did India sign the Dunkel Draft ?

(1) 15th April, 1993 (2) 15t July, 1993
(3) 15t April, 1994 (4) 15th July, 1994

417.

1991 =it = gywn | =1 sreasdETel g S oneft 8t 2
(1) = o Few (2) T A, Afer

(3) TAF. W (4) T, MG W@

Tax Reforms Committee 1991 was constituted under the Chairmanship of
(1) Shri Vijay Kelkar (2) RajadJ. Chelliah

(3) LXK Jha (4) M. Govind Rao

FTET HHTHIST AT / SPACE FOR ROUGH WORK P.T.O.
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48. wrefta faum femm @
¥, HEgafia #(VAT) € sgaeefr s et somd ageht .
q. Fueatds wE uwa-fig Fowon sond ugdt am.
&, %%ﬁmmﬁﬁmwﬁwmwmmm

el Hort faa e anga ?

(1) AT (2) *RAITH 3) wFRHAF (4 T

Consider the following statements :

a. The Value Added Tax (VAT) is a multipoint tax collection method.

b. Non-VAT is a single point tax collection method.

c. Implementation of VAT will improve the purchasing capacity and living
standard of the poor people.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above

49. I T I FOADA (GST) YEIAIH! RV HETE GUET B ATE 2

3. 5T 9. 12T H. 22T 3. 28
qaidft I : ;

(1) " %ed o 3101 9 (2) e H A1 g

(3) e 31, § AT 3 4) wHH

Which of the following tax rates is not included in Goods and Services Tax ?

a. b percent b. 12 percent c. 22 percent d. 28 percent
Answer options :

(1) Onlyaandb (2) Onlycandd

(3) Onlya,bandd (4) Onlyc

50, wreia faud faamma o -
A Her e wme, 1956 TR fhie &1 iAo axg fashiat srrerren Smat.
. g Rt qumed S, 2008 TG 3% T 2% WA %I AT, AL,
%. %o fhiet &1 YR gaed (g2) FEcen iy = TR,
Fdeh! Hiviet fam s 3mda ?
(1) ST ATF (2) PRETSH (3) HRATH (4) o ==
Consider the following statements :
a. The Central Sales Tax Act, 1956 imposes the tax on interstate sale of goods.
b. The CST has been reduced from 3% to 2% from June, 2008.
c. The CST is an origin-based non-rebatable tax.
Which of the statements given above are correct ? _
(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above

T DTETS! ST / SPACE FOR ROUGH WORK
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51. wEd fauH fe=EnmE =
N, (R —deder) 2016 — 2017 7eY wiardt sipeeft fafa, 13-5% # @2,
q. (e - fedar) 2016 — 2017 T Fe@ WRATH WIgae! gl WA 8-8% At 9T,
F. 2016 — 2017 (ufier — FAedw) T YRATH! W AATY, AT qrediHy AT St
10-3% =t =i,
et wor/d faumaA s /a2
(1) SFAAY (2) SR EITH (3) W F 4) wRA
Consider the following statements : ) _
a. India’s export to Africa declined by 13-5% in 2016 — 2017 (April — November}.
b. During 2016 — 2017 (April — December) India’s imports of capital goods
declined by 8-8%.
¢. India’s imports from CIS and Baltics region declined by 10-3% in 2016 - 2017
(April — November).
Which of the statements given ahove is/are incorrect ?
(1) Onlyaandb (2) Onlybandc (3) Onlyc (4) Onlya
52. gt dra fvm fae

A, VAT ANRTIE GRoi queh S g 1962 76 yweard qefrm afd
T STeft,

¥, W G gafad i, S 9 JwgE e GemmEd e Freneft 9 s |

STETT ST Ardl.
gttt I@ ;
(1) %% @) wx S
(3) o onfr & =t @) o Td T

Select the correct statement from the following :

a. In 1962, Ramaswami Mudaliyar Committee was appointed for the scrutiny of
India’s Trade Policy.

b.  This committee suggested that, essential machinaries and raw material should
be imported for the development of Energy and Transport sectors.

Answer options :
(1) Onlya (2) Onlyb
(3 Bothaandb (4) None of the above

T HETATS! ST / SPACE FOR ROUGH WORK P.T.O.
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53.  wEhid SR 9170 2009 - 2014 Fefta @refier foum fommm o
¥, aEHEd! e gro 3fee 7 2020 wd wrarn swfis s faer gz s
® TR,
¥ U AR YR 50 A6 SIS GHIGY 98T held WIRaE drad e,
%, TR T Fafa dieared Ao fede, 2012 ved widk P
Fliateht S faum St Ra ?
(1) $F AT (2) $HAAAH (3) $HAEIFH (4) Heth od
Congider the following statements regarding Foreign Trade Policy 2009 - 2014 :
a. The long-term policy objective for the government is to double India’s share in
global trade by 2020. '
b.  Foreign Trade Policy has added 50 new markets to the Focus Market scheme.
c. Government has announced incremental export incentivisation scheme in
December, 2012. :
Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlyaandc (3) Onlybandc (4) Allofthe above
54. ot sHmOm 9RO (2015 - 2020) HEA TH.3.379.UH. 9 UH.3.37™.UH. ArsHaana § gaed faef
EIGS
(1) R aE (2) Frfa @ awgS
(3) 3TN T (4) Fafa wam -
Foreign Trade Policy (2015 — 2020) includes MEIS and SEIS which provides
incentives and rewardsin termsof .
(1) Duty Credit Scrips (2) Export-Import Passbook
(3) Import Licence (4) Export Licence
55. e el e e wrefier R A e 9 -

(1) vdra figred S5 51% Ta=an GnynTr=ar arsarel faaEmEmd arm A=
) faesht qaavE vadw vee

(3) W fered dersit arfam st A

(4) alteush 94

In India, FDI inflows were recorded under the following heads :

(1) Reserve Bank of India’s automatic approval route for equity holding up to 51%
(2) Foreign Investment Promotion Board

(3) RBI Non-resident Indian Scheme

(4) All of the above

FoedT HTHITE! &I / SPACE FOR ROUGH WORK
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21 ' "3

92 faesft Taav sderEed IeneAEE aRfva e e, ® e faRE qaars
e TaEgT I R .

(1) vmvaa/fRe e (2) e

(8) dreca wWEarE (4) T TEEATEH

FDI helps to increase the productive capacity of economy, while foreign portfolio
investment is of more speculative and is thus :

(1) sustainable (2) volatile

(38) increasing (4) decreasing

Wl g o =
H.  IHEHY, 2004 wed, Al i qifie Fraaefers, mite anfor gmifed g geonda
 100% Ta TR Toaw Taaue Hoawidl TR wane e,

T, WHAW, 2004 W, WEHRA YoM Ediel bR Woeaw Taaus Hater 100% 93
et

$. FIERAT $-FIR FaHEAEE T T8 Taaves 80% FAEE) Tam fawl,

Fherdeh! iva/dt faum/A e /e ?

(1) wFa H (2) ®HFAATH B) PRI HIAS (4) BFREITH

Consider the following statements :

a. In January, 2004, the government allowed FDI upto 100% in printing scientific
and technical magzines, periodicals and journals. ‘

b. In January, 2004, the government raised FDI limit to 100% in petroleum
sector. '

c. Presently 80% FDI is permitted for business to business e-commerce.

Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyaandb (3) Onlyaandc (4) Onlybandc

58.

H. w9 FEER "I

4. i e 96

%, ahafre faew Taew

3. faw oo

FEH B YA T ARG 7

(1) ®Fa AT (2) FFRI®AS 3) BFATS (4) sOFART THE T
E;iiollnwing agencies are controlling the activities of Multinational Corporations in
a. The Ministry of Company Affairs

b.  The Reserve Bank of India

¢.  The Ministry of Industrial Development

d. The Ministry of Finance

Which of the above options are incorrect ?

(1) Onlyaandb (2) Onlycandd (3) Onlyaandd (4) None of the above

FFoeqT HIHTHIG! AT / SPACE FOR ROUGH WORK . P.T.O.
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59, i o STl g ST WY A 2

A TH AR ToF (FTZ) . fgfa shew =9 (EPZ)

%.  offefieh q@Ed (IE) 3. HE «@qt (FP)

gty I

(1) & 3 onfv & (2) % @3S

(3) wad ¥ aqfe & (4) afa wd

Which of the following are included in Special Economic Zone ?

a. Free Trade Zones (FTZ) b.  Export Processing Zones (EPZ)

c. Industrial Estates (IE) d. Free Ports (FP)

Answer options :

(1) Onlyaandb (2) Onlybandd

(3) Onlybandc (4) All of the above
60. @l faur fammm o

A g A Feft @ dge g sy g e,

q. |E 200 <¥ FGgE 4 R wwee .

F. a0 it s SeEReNTE 9 wauTn g senen fAdt 2.

et Hvrd faum st emea ?

(1) B AT (2) ®HAEdH . () B ATH (4) e wd

Consider the following statements :

a. The International Monetary Fund is a specialized institution of the United

Nations.
b.  The IMF currently has 200 member countries.
¢.  The IMF provides funds to a member country experiencing temporary Balance
of Payment (BOP) deficits.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc¢ (3) Onlyaandc (4) Allofthe above
61. youafia FEeala wrefia faum foamm o

A, AIAY TR aged A8 FAOGTES qeatea F A .

9. ¥d und fafqy swqEe youatda Fe <t U 9nd aTga.

F.  qegaryad F wonelt 10 TRiE, 2006 9T 3T AT

Tl FIrd) faum == 3 ?

(1) vaaaamfis (2) swas (3) W Fais (4) ofawd
Consider the following statements regarding Value Added Tax (VAT) :

a. VAT is provision for eliminating the multiplicity of Indirect Taxes.

b.  The rate of VAT on various commodities shall be uniform for all the States.
c. VAT system is implemented from 102 April, 2006.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc (3) Onlyaandc (4) Allofthe above

HEEYT HHTETS! I / SPACE FOR ROUGH WORK
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62. T WEGH! ITARNA qEIATh! FHITET FE A ?
1, fafa Agigrme 3=
q. AT 39
®. W S A6 (Feafie IuEE)
gatdt I ;
(1) %= 1 v (2) @ A 3 H
(3) W @ I & (4 wwud
Which of the following are included in Non-Tax Revenue ?
a. Receipts from Fiscal Services
b. Interest Receipts
¢. Dividends and Profits (Government Enterprises)
Answer options :
(1) Onlyaandb (2) Onlyaandc
(3) Onlybandc (4) Al of the above

63. @ faun fammoa &
A Fz TS UGl GO W Wi G WO SHM 2015 — 2016 HEA

11-4% 81, :
¥ g T N e T Sata SEEAT FE S 2015 — 2016 WY 8-3%
F.  hp TS Yisad WIS TH JuETd ICTEAT FWOR YWV 2015 — 2016 WA 1-7%
. :
Fhah Hord faum st snga ?
(1) saHTT (2) ®HMEATH
(3) ®RATH (4) wlEwd

Consider the following statements :

a. Central Government Revenue Expenditure to GDP ratio was 11-4% in
2015 - 2016.

b.  Central Government interest payment to GDP ratio was 8-3% in 2015 — 2016.
Central Government Capital Expenditure to GDP ratio was 1:7% in

2015 - 2016.
Which of the statements given above are correct ?
(1 Onlyaandb (2) Onlybandec
(3) Onlyaandec (4) Al of the above

HoeT BRI ST / SPACE FOR ROUGH WORK ' . P.T.O.
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64. T TEHREA TMHITR FEAGSA G (2015 - 2016) Qieftd e Jozar

e ‘ot

(Fraefier)
A, HEGAl i
AR S CRIECaL R i,
. RS | ii,
8. H® M iv.
gt 3w ;

XA T F T
(1) i i it v
(2) iv Hi il 1
@ i v i i
(4) i i v 1ii

wie™ @’

(v ST ST TEhaT)
1-9%

0:7%

3:9%

2:5%

Match the following regarding Central Government Fiscal Imbalance (2015 — 2016) :

Column ‘A’

(Particular)

Revenue Deficit i.
b.  Gross Fiscal Deficit ii.
¢.  Primary Deficit ifi.
d. Major Subsidies iv.

Answer options :

a b c d

W i i # v
@ iv @i i i
@) i v i i
4 i i iv i

Column ‘B’
(Percentage of GDP)
1:9%

0-7%

3-9%

2-5%

=T STHTA ST / SPACE FOR ROUGH WORK
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wrefie faum fommua o :

A, TEEE ge TEU He] WIS A @ S IO,

¥, TR ge RIS THUT WIHNRET TV @S W 0.

F. TN g2 & WHnal gd anii e wgu syt wer freis s
St wndt faum ara sed ?

(1) BRATT

(2) TETIH

3) TH AT

(4) b wd

Consider the following statements :

a. Revenue deficit means the excess of current revenue expenditure over current
revenue receipts. '

b. Budget deficit means the excess of total expenditure over total revenues.

c. Fiscal deficit indicates the total revenue requirement of the government from
all sources.

Which of the statements given above are correct ?
(1) Onlyaandb

(2) Onlybandc

(3) Onlyaandc

(4) All of the above

- _B G g TR feaad .
(1) =q 3 FOTEEE @9
(2) wwifve aEla @

(3 IFHERlT G-

(4) o Impmer far @

is not a development expenditure of the Central Government.
(1) Expenditure on interest payments
(2) Expenditure on social services
(3) Expenditure on subsidies

(4) Expenditure on expansion in developmental activities

FHoe] SIS ST / SPACE FOR ROUGH WORK P.T.O.
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67. Yl T YN qeredl srehwugrea qRummime) Fa ?
3, fondined arg |
9. 99d &9d agd
®. sl qatie
vt I
(1) wF & anfr & (2) % 3 i =
@) v« I % (4) e ud |
Which of the following are the effects of Deficit Financing ?
a. Rise in prices
b. Change in the pattern of savings
c¢.  Credit creation by banks

Answer options :
(1) Onlyaandb (2) Onlyaandec
(3) Onlybande (4) All of the above

68. @ifie faur wama =
A, dEsedy T won FOm S faa ugdt 1997 wem wfed wwam st oamR.
9. 2wl femh son Iw of i afesgrw i dach .
FhATH v faum(F) = AR/ ?
(1) %aa 31 FUR 3R
(2) ad § IU 3R
(3) AT 9 IAH T AR
(4) 3139 A& TH AR
Consider the following statements :

a. Treasury Bill system of financing budgetary deficit was discontinued
since 1997.

b. Treasury Bills are replaced by Ways and Means Advances (WMA).
Which of the statements given above is/are correct ?

(1) Only ais true

(2) Only bis true

(3) Both a and b are true

(4) Both a and b are false

o] SIS ST / SPACE FOR ROUGH WORK
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69. TSN Farard M grigTs =TI ST e faum faewE
A, Fg WA THBNY Farael AT FEES ST FrEE 2004 T H HeAl.
9. 2009 vda wageft g Ue FEA T V.
. T, 2009 vdd e 2wata ScargATeal 3% T T gz wt w0 Faffa .

Fherddhl Ford v R o ?
(1) SFATH (2) wEIEdFH
@) HHRATSH (4) whah d

Consider the following statements regarding the FRBM Act :

a. The Central Government passed Fiscal Responsibility and Budget
Management (FRBM) Act in 2004.

b. It aimed at revenue deficit to fall to zero by 2009.

c¢.  Fiscal deficit was to be reduced to 3% of GDP by March, 2009.

Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc ; (4) All of the above

70. el fum fewm
. TSI TR Saegeaa W fgred o weensh yfire 9 gea.
¥, ToyreAl AR e IR HEa T HEe HE T fged % w.
F. i feed d% anig dR d@ U5y fam afverh s gud Adie geneaa snafia

.
FheYH i) Tt atEr o 2
(1) ®wFAGS (2) HFRTAF
(3) HFATH (4) ofe ud

Consider the following statements :

a. The Reserve Bank of India plays a vital role in fiscal management of the
States.

b. An important function of RBI is to help the States to raise market loans.

The RBI has been organizing the State Finance Secretaries Forum two times in
a year at its headquarters in Mumbai.

Which of the statements given above are correct ?
(1) Onlyaandb - (2) Onlybandc
(3) Onlyaandec {4) All of the above
Foed] BT AT / SPACE FOR ROUGH WORK P.T.O.
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71, AN FHI YHTEAT HEIHYFBE (GG HRIHA ST SUHR I Atey/agaate it
IyAsy B ATEN ?

(1) urRYfE Adywey
(2) dreqEan areiEEeq
(3) spEmfE srefuseq
(4) HGIHHFTS (Lame)/4HRIeas (duck) 3refbmheq

In which of the budget may the existing programmes and activities not be
automatically funded ?

(1) Traditional budget
(2) Tentative budget

(3) Zero-based budget
(4) Lame duck budget

72. Wl faum fosm e

H. iy fadta saereny aed=h s 1993 Al et

g, SE M aaNm a9 A geara Ea, 2013 96w,
F. N ousad i T 2 sAfeE, 2005 Ued e,

gl word fage atEr aRd ?
(1) sFATd (2) FHdETITH
(3) FHEIALAH (4) o0« &<

Consider the following statements :

a. 'The National Institute of Financial Management was set up in 1993.
b. Rajiv Gandhi Equity Saving Scheme was launched in February, 2013.
c.  National Small Saving Fund was set up on 224 October, 2005.

Which of the statements given above are correct ?

(1) Onlyaandb (2) Onlybandc

(3) Onlyaandc - (4) Al of the above

#oeT HTTHTE! T / SPACE FOR ROUGH WORK
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Answer options :

(1)
(2)
3)
(4)

a b c d

i iv i
i i iv il
i v i iii
iv i i i

il.

1il.

iv.

A 29
73.  @ra e P
(forw i)
3, ufgen faa s
¥, e fam amEm
%. qgEl fom Imam
3. ¥ faw s
waid I
H g = k-4
(1) i 1 iv 1ii
(2) i ii v il
(3) ii iv 1 iii
4) v i il iii
Select the correct pairs.
Column ‘A’
(Finance Commission)
a. I Finance Commission i.
b.  VIIT* Finance Commission i,
c. X% Finance Commission iii.
d. XIII* Finance Commission iv.

113

wiew T

(R smavm= ereasr)
..

). favft
SE1.UH. Fodhl

IIEAUE ToRTIl

Column ‘B’

(President of Finance Commission)

K.C. Pant

K.C. Niyogi
V.S. Kelkar

Yashwantrao Chavan

FEEYT BIITHS! AT / SPACE FOR ROUGH WORK
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74.  TIHNE G = + QT GG IUT %S 9 3T,
(1) wigast gt
(2) weyel @<
(3) ugw @
(4) eEThE qg
Fiscal deficit=_____ + Government’s market borrowings and liabilities.
(1) Capital receipts
(2) Revenue expenditure
(3) Total expenditure
(4) Budget deficit

75. Wi faus femmg @
¥, T AN I A5 1 FHGR, 2013 A ATER AT e
9. geaden grade 35 foeen ae & e qafquae e

F.  Tog AV ssdaor A o @ fgam anfor g s S 31 Itvm J9R et A
<

et HroR/d faam/A e sw/a ?

(1) S HAFA

(2) waa

(3) $HTITH

(4) & A

Consider the following statements :

a. The Direct Benefit Transfer Scheme was introduced on 15 January, 2013.
b.  In the beginning, this scheme was implemented in 35 districts in India.

c. The Direct Benefit Transfer is designed to reduce corruption and control
expenditure.

Which of the statements given above is/are correct ?
(1) Onlyaandb

(2) Onlyb

(3) Onlybandc

(4) Onlya

e HIETHTS! AN / SPACE FOR ROUGH WORK
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76. a+bTES a @ bt ger .

a—b TS a & b= T,

ax b7 a®l b S,

T p+qxr+sxt+uxy, R v g e wn Gae.

it 39

(1 2%

2 3%

(3) 17t 9 gak adia

(4) 44

a + b means a is the daughter of b.

a — b means a is the husband of b.

a x b means a is the brother of b.

Ifp+qxT+5sxt+uxv, then select the order of present generation of v.

Answer options :

(1) 2nd

(2) 3¢

(8) 1% and oldest generation

(4) 4th

77. e LEFGHI a1 ey debrenl L 9 1 & et armeien fafoy gufer wer=h e

fazr.
(1 4! (2) 3!x2!
3 2 ‘ (4) 41x2!

Select the number of different groups of alphabets that can be formed from the group
of alphabets LEFGHI that have L and I at extreme positions.

1 4! (2) 3!x2!

(38) 2! 4) 4! x2!
Feeq] PTHTATS! AT / SPACE FOR ROUGH WORK - P.T.O.
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78.

32 A

9 A € D6D41 A1 T ¥h Fen Ay wim o, feetelt st qof svom=m A s
FAwE oo st festen vt Fae.

(1) 54 (2) 27 (3) 36 4) 63

D6D41 is a five digit number that is divisible by 9. Select the minimum sum of the
digits that satisfies the given condition from the given options.

(1) 54 (2) 27 (3) 36 4) 63

79.

I 300 forfl gamm wEa anfr 200 fefl ya@ SR Fer. cren J vamEr 5 | 30 fafe
artell. T qH 260 frft yam WA enfh 240 Tt e e swaar @ oener 6 fafR
AR A5 AN AT, o o9 anft e s,

(1 100 fafi (2) 120fFf = (3) 80fwf (4) 110 feht
Aman travelled 300 km by train and 200 km by taxi and it took 5 hr 30 minutes. But

if he travels 260 km by train and 240 km by taxi it takes 6 minutes longer. Find the
speed of the train.

(1) 100 km (2) 120 km (3) 80km (4) 110km

80.

WEE WSd FUIME! dl 100 et gieviss fren. dy@ d SEtehe dgo 200 Hiet e, g al
TS ged 100 et auatia fimes fon. dyn fiame @ s 400 fw @ 6@
TTSoge Nell. a0 B o wieal qovefied a7av femdl @ wiest wreAn v festen e 2

(1) 400 HieT gde

(2) 600 HieX ydws

(3) 600 et gfFaies

(4) 400 Hizt TfeaiHy

Shahid, when he goes to school, goes 100 metres south. Then he turns left and walks
200 metres, he turns left again and walks 100 metres and reaches his friend’s house.

He came to school by walking the distance of 400 metres towards east. Find out the
straight distance of the school from his home and its direction.

(1) 400 metres to east
(2) 600 metres to east
(3) 600 metres to west
(4) 400 metres to west

Feeq] BIYTATS! ST / SPACE FOR ROUGH WORK
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81. TEiwde YREIH FHNCHAT HTH! I (Naed gl "iage! A FeE U e e
fedtem g wata Jv wdt fRas.
&, QT
ﬂ,“h‘;;%m
&
| ’“‘; i
1 &S @)
@) Dla @)
The left hand transparent paper sheet is folded along dotted lines and a small single
triangular fold is obtained. Select the most appropriate fold from the given options.
L
Pt
A 5’"’@' |
(1) &Y 3 2)
N N
At _' _”'w\
L@g\_ @) a0
82. W B5DTv B D4 afea smea.
BID Teurst B & D =it widior a1,
B4D TVl B & D 1 9IS 3R,
B3D &t B # D =t st 3.
e Féft K+ ond o, # aeifavna wafa fae.
(1) F3M5K (2) F5M3K (3) FIM4N3K (4) F3M5N3K
If B5D means B is the father of D.
B9D means B is the sister of D.
B4D means B is the brother of D.
B3D means B is the wife of D.
From this information, find the alternative which shows that F is the mother of K.
(1) F3M5K (2) F5M3K (3) F9M4N3K (4) F3M5N3K
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“YRATd 94T A ATHITHTEEHTG H@hM Aigaerel e s
YR et IpuTeda Ao TR SiET A, WA w1 A wonn 3w IR a@e
I (FRAT) ATE AR 3 AF FRHr MM it arEvEral a9 399 SERE
IR g vishdl. B 4¥ Qa1 Wava eEiet wiell S wal. wite wwe, 3N, ot d e,
THed, anfded, FAdagH, HGWEE My, AR @9 - TeveE | 899 qOER HEo
) e AR, I8 AT FEuE wEE oW W 43 g Aenh A geen &l
qETETS 3R 3 AT a1 ATl HHIRT FE Aol

e mfadren geviq 3fua sdfE=am fas. .

W, - seraieda Ju TaushEE 3ieE E9eaR “Yra sqar B eifRe gee
BIU T8

¥, YRd 9 WA 9T 0 Al FEeae oI Tded, anfaed, seddawH, e da
TATd &7 fasfim swase W@ whaeEen g4a.

%.  JUTE YT I d, TE 9 Il 9 STeEvENET YRaE SiTe $Ee, Y,

g 9% I3 9 WITAN SR AEETE 49di 3T safeRTd STEUMIT HRwd 31Ed W &
HRd =7Teh HHERT FF siehdl.

'ﬂl’hff?ﬁﬁ:
(1) =ehtwad (2) waAGIH
(3) wdAI G T (4) sSEOTad

Study the following observation noted by author with respect to “Make in India”
initiative. '
India has no history of industrial-scale innovation. It is a trading nation and a
nation that does well in areas that require delicate craftsmanship and care, areas
that are (for want of better word) human in scale. It is also a nation that does well in
providing services. It could do better with better laws, incentives, and use of
technology, tourism, hospitality, fintech, international education and healthcare —
areas where human beings still count, where more personalised attention matters
and where machine and scales are less important.

Select the appropriate interpretation/s with respect to the above information.

a. The initiative “Make in India” will never succeed as India has no history of
industrial-scale innovation.

b. Since India does well in providing services, therefore it should concentrate
efforts for developing areas like tourism, hospitality, fintech, health care etc.

c.  With better laws, incentives and use of technology, India should develop service
sectors rather than wasting time, money and land in setting up other
industries.

d. India can perform well in areas where personalised attention is important and
machines and scales are insignificant.

Answer options : -

(1) Allbutc (2) Onlybandc

(3) Onlybandd (4) All butd

] SITFTS! SR / SPACE FOR ROUGH WORK
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84. mmmmﬁmwmﬂ@ahﬁWWmmmmm
q_ THaTa. Wwwﬁﬁﬁwmaﬁnﬁmm@mﬂﬁﬁw
YIARIIET TreuTETEd HHl SUTEnE T8,
mmmﬁmmﬁﬂﬂwgﬁaﬁﬁgﬁwﬁﬁmﬁm. |
(1) & g R arers =edd el a9 ol aqeed o Ei.
(2) UG T U ietehial A ieta AT HHRAYS [ 31 firgg Yeed Tead.
(3) mmwﬁawmmnﬂaﬁgégﬁmmﬁmﬁ%

(4) %w@mm@ﬁﬁmﬁ%ﬂﬁ%ﬁwmaﬁﬂ%m%m
TEEN IR,

Many nutritionists claim that eating bread is not good for health as it does not
contain fibres that are essential for digestion. Opponents ef the nutritionists’ views
state that examination of this bread eating generation is less nutritionally deficient

than their parents.
Select the statement that, if true, would tend to strengthen the opponents’ view.

(1) Parents of bread eating generation were always eating fresh and home made
food for breakfast.

(2) Parents of bread eating generation did not get to eat sufficient food due to
scarcity of food during their time.

(3) Parents of bread eating generation did not get to eat sufficient food due to
poverty.

(4) It is possible for anyone to eat low cost convenience food like bread that is

available easily whenever one is hungry and that is most important for a

person.

o1 HFTHIS! SR | SPACE FOR ROUGH WORK P.T.O.
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eIl SAGT 3§ TS HIBAGEH AEAH F T TG AT A I &l
T TSI Sagiea TRTY Iufedrd gom=ar SHeaw= it
T YT IHSTR = 3 .

W@m{ THaT I 96% 3 e O SheETes o,
TSI IR STEUITAT 4T SHSART= 1 2l | qr SHgamr oneR |
49
61
54
45
85
| 57
|’ 48
T ‘G O WTF SO 68 Seaw) s R omg 2
(1) 4536 (2) 4568 (3) 5454 (4) bb44
Study the following graph and table carefully and answer the question.
Distribution of the candidates who appeared for competitive examination from seven States.
Total candidates appeared = 3 lakhs.

ol bojoo| s

Ll [* =]

Q'EFJUOD:';@'
Clelgleo|~|m |~

State-wise percentage and ratio of male and female qualified candidates.

State % of qualified over appeared Ratio of qualified
from each State candidates
A 49 4:5
. B 61 6:4
C 54 7:8
D 45 3:2
E 65 7:6
F 57 11:8
\ G 48 9:11 N
What is the number of male candidates that qualified from State ‘G’ ?
{1) 4536 (2) 4568 (3) 5454 (4) 5544
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86. TN @it 3 Wi g g W AT Ak ATEgeRY T SUTie SO, HIRTHAT | @ e
Fe TONETAr Tt S0 T U FRE gl . geaadid A8 @i g
T @, @R Sl St 3 g quaren Jrn e f aad amr
T @ “Rireh” TEU WawTe Wi 9 aredrd. e fifay wmva s Jom e @
3 amerda e @ sl ghwa Reauaedt T s 3R
Tl qitederear Wy Higal 7 I A Fae.

(1) 99 @R B w7 9 TR AT SISO W AT AR

(2) TR @R 7 TAYGIHONA Ted O foet ST WeT 37,

(3) a1 ATEqRIETE! I w0 71 forean FaeArEn = wen Anl ST,
T (4) TR AT FET i T A & Wl et I9W 6id o

The river basin forms a critical link between land and sea, provides transportation
routes for people, and makes it possible for fish to migrate between marine and fresh
water systems. By acting as natural “filters” and “sponges”, a well-managed river
basin plays a vital role in water purification, water retention and regulation of flood
peaks. In many parts of the world, seasonal flooding remains the key to maintaining
fertility for grazing and agriculture. '

Select the statement that cannot be inferred from the above passage.

(1) For making a river sustainable ecosystem, it is necessary to develop
programmes for conservation of the river basin.

(2) The river basin is an integral aspect of a river that helps in purification of
water.

(3) Using the river for transportation is good way of its conservation.
(4) If managed properly, rivers can be used as a good source for getting fish.

87. ore fim firhem T wer YEICTIHTOl SHE oTRd. STNNSA I NN WA A, A
IS HIE . IgeT @ IO Areamed A AR, FETEAT IS ANEN 0N IR, WA
d G0N TSAHEY S SR, 30dd B HAUSrAT A9l R, el FURE al OH ween
3R ? W SAMF F 7Oy Areamed frdt syt amda 2
(1 1 ' 2) 2
3) 3 4 4

Eight friends are sitting to see a cricket match. Bharat is to the right side of Ashok,
but no one is to the right of him. Aadit is in between Indradev and Ganesh. Ganesh
is at the right side of Hussain. Ashok is exactly in the middle of Bharat and Dhanraj.
Indradev is Dhanraj’s neighbour. Anjali is at either of one side. How many persons
are in between Ashok and Ganesh ?

(1 1 2) 2

(3) <3 4) 4

FTEIT BT STRTT / SPACE FOR ROUGH WORK | P.T.O.

B e I

T WRe L ok S



13 38 A
88. e favm 7 Frvd it sk, # fom we e o e ahgean T sne/a. ¥ e

Hewld 3.
§.  UHd 6Ee 4gHa AT
%, §d ggHa e IR,
ferd . 1w o R ggEe T

I[I. 9 & R ygHa T
III. & g6Ee Hid HEG.
IV. % a6ty & gg%es 1.

qutdt I

(1) wd 34

(2) a1, 111 & IV g

(8) e IL, 1119 IV aard

(4) a1 fobar II, 111 9 1V T919

Given below are statements and conclusions. Consider these statements to be true
and decide which conclusion/s is/are logically valid with respect to them.

Statements: a. Most apples are mangoes.
b. No apples are berries.
c¢. All berries are mangoes.

Conclusions : 1. Some mangoes are not berries.
II. All mangoes are not berries.
III. Some apples are mangoes.
IV. Some apples are not berries.

Answer options :

(1) All are valid

(2) OnlyL III and 1V are valid

(3) OnlylIlL III and IV are valid

(4) Either I or IT, IIT and IV are valid

ZHOET HIHTETS! IR / SPACE FOR ROUGH WORK
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TeRTAdIe Tl A1 Ve ST SfeT R e deish wivciat o snft = ST ren

AT GIUTG 1R, I F ST VYO G IR q JeieAy qiSATEn AFR @ el SR M

R, W UES T FEE WoeA aiSudie et 3l STl Uieeredl  SUaEd

STovrRm il TG 1A TV T FERIEEH @ B A W ST, TS qursAl god T

mwmﬁmmmmmwm@éw

I Sftwdft U] SEAE. IeTAT gU ATfE w1 FOM G THRE

FfEa i orEn g ok o A A STl TR WG W0 HA. el I,

W srft 38 i gy formot § o9 o7, wfomft e Wit i HReE R 3t L

Ti=aera w4 R fAfFeaeer Hiadr Jom gum Fast.

(1) gur o 3 Tl STETETd Jeat s STaers SFHuATE 0l 3.

(2) TREHT AT I TUEUEITE TRUNE ST ST HE qHT S aE Seae
F I IR, ‘

(3) oAl gUTE Y SHECATE TTEN ITN AYAFTEHIT HAATIRYT STARETE! HT JEe.

(4) Serem e Yl yides e @ IR ATadid FHETaRT STEIEIE
=, |

The existence of Rajasthan’s nomadic Raika tribe revolves around its camels and

they are experts in camel rearing practices. Camels for them are a source of

nutrition and the size of a herd is a measure of prestige. Every member of this

community is expert in identifying each camel of his or her herd by pugmarks.

Similarly, by smelling the milk they can identify a female camel. Camel milk

contains less amount of calcium but is rich in chlorides and phosphorus. It contains

ten times more quantity of vitamin “C” in comparison with cow milk. Camels live by

eating foliage of shrubs that grow in the desert therefore that milk has many

medicinal qualities. Camel milk contains special kinds of protein that act as natural

antibiotics and it is believed that it protects people of this tribe from diseases. It also

contains insulin. Raikas believe that selling milk is a sin. As a result, keeping

camels is not profitable for them.

Select the conclusion that can be derived on the basis of information given in the

passage. :

(1) ﬁ%.la]ities of milk provide evidence of Raikas complete dependence on camels for
ife.

(2) It is possible for Raikas to use their traditional knowledge of rearing camels for
producing milk commercially.

(3) Since acl.-amel milk contains insulin, it can be used for treating diabetes in
general.

(4) Since camel milk contains natural antibiotics, it can be used for treating
diseases in general.

90.

TH wiEd 70% fernmeff usfa Ieil FR, 65% fammed aftram seil s, 25% faamel 2=
fereama arefivl snet. R 3000 fremedf A frwwm sl e sredte, W T fed et
Thien feeht 2

(1) 7500 (2) 5000 3) 6000 (4) 8000

In a certain examination, 70% students passed in English, 65% students passed in
mathematics, 25% students failed in both the subjects. If 3000 students passed in

both the subjects, then how many students appeared for the examination ?
(1) 7500 (2) 5000 (3) 6000 (4) 8000
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91.  WERTSZ=AT Ti=TET FohIa=il (2013 — 2014) = 3190 0 o7 dg I .
Study the rainfall map of Maharashtra (2013 — 2014) and give suitable answers.

Rainfall Map of Maharashtra
TEATLTAT =g aT
2013 2014
(1) @)

TRTOTETRR (120 9
TR ST )
Tl (80 — 120)

Lo Y90 (0 — 80)

. 2014 TER HERAISTAT GeAddid WG GOl 9S-IME 0 80 Tag TR,
¥, 2013 TR FERISTSAT ST 120 T 0 TG a0Ed go-a0H Aes.
. o3, THNE I IFHUTA! AY 2014 AR 120 9 AU TR TiHy IS4l
.  HENSgE 2013 Y& 2014 HE qrEETE YHIO SR AR,

gl I ;
(1) 37 Fq& (2) o WSt
(3) A 99a0s (4) %9 ¢8R

a. According to 2014, the annual average rainfall in the middle part of
Maharashtra is 0 — 80.

b.  According to 2013, the average rainfall in the northern part of Maharashtra is
120 and above. '

c.  In 2014, the rainfall in Dhule, Jalgaon and Amaravati is 120 and above.
d. In 2014, the rainfall percentage in Maharashtra is higher than 2013.
Answer options :

{1) ais correct {2) bis correct

{3) aand b are correct (4) c¢and d are correct

T HHTHEIS! SN / SPACE FOR ROUGH WORK
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92, WG wig @ierear T S fRdl 28 el neng e ?
(1) 40 (2) 25 (3 20 (4 15
What is the percentage of iron ore reserves in Maharashtra out of the total iron ore
reserves of India ? :
(1) 40 (2) 25 (3 20- 4) 15
93, OV S A ;o
T Frem
# fewrd i FgER
¥ Tesf ii. SETE
®,  amE iii. wER
g e iv. TR
ot I
H q * -4
(1) 1 iv ii i
2 ii i v i
(3) iv ii i ii
4 i ii iii iv
Match the following :
Mountain District
a. Chikodi i.  Nandurbar
b. Madhoshi ii. Jalgaon
¢c. Toranmal iii. Satara
d. Hasti iv. Kolhapur
Answer options :
a b c d
(1) iii iv ii i
(2) u i iv ii
@) iv iii i i1
4 i ii iii iv
94. 200149 2011 I FFVHIER HERTIAE HIERA=T & fohell 28 AR 2

(1) +524 (2) +540

3) -—-452 (4) -348

According to the Census of 2001 and 2011, the difference between the percentage of
literacy rate in Maharashtra is '
(1) +524 (2) +540

(38) -452 (4) -348
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95. WENIHIS Siven SuEh favrme aata s fer e 2
(1) HUEd (2) AR (3) oiFmErg (4) oI
Which administrative division of Maharashtra has maximum number of districts ?
(1)  Amaravati (2) Nashik (3) Aurangabad (4) Nagpur
96. mmmmmw EAGEIIER IAtcT] 0 @19
TR 4 T %, seEdl 3. drmeg F. o
Wﬁﬁ I
(1) 3,93, A, =& (2) 53,49, %,
3 9,%,%,3, A 4) §,9,3,A, %
Arrange the following administrative regions of Maharashtra as per their area in
descending order :
a. Nagpur b. Nashik ¢. Amaravati d. Aurangabad e. Pune
Answer options:
(1) eb,da,c (2) d,e,b,¢,a
(3) b,d,c,ea (4) d,b,e a,c
97. T SEm W@ (nEmvd s faew)
HarUd e
A 1 Hﬁ
9. e i T
H. IR ifi. 3mhiel
3. HASI iv, aut
it I
A q9 < i
1) ii iv i iii
(2) il 1 iv ii
3) iv ii iii i
“4) iv iii i i
Match the following pairs (Sanctuaries and Districts) :
Sanctuaries Districts
a. Bor i. Dhule
b. Narnala ii. Raigad
¢. Aner ili.. Akola
d. Karnala iv. Vardha
Answer options :
a b c d
(1) i iv i iii
(2) iu i iv ii
(3) iv ii iii i
4 1w 1l 1 i1
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08,  SIHUNA HIVCT THISA S TEed 3R ?
(1) fogwen @ Ffga
(3) G (4) wgH
Which type of settlement is dominant in Konkan ?
(1) Scattered (2) Concentrated
(3) Disconnected (4) Composite

99. WehT T WEAIde Nl YA IR-afe ngaan Fed HA fow
A PUREH TR q.  FY R
%. Tae g T amus g
it I
(1) 3, &, 83 Q) #*,9,8,3
3 93,38, (4) ¥,8,%, 9
Arrange the following physiographic features in the Sahyadri in a North-South
orientation : ' :
a. Kumbharli Ghat b. Varandha Ghat
c.' Raigad Fort d. Pratapgad Fort
Answer options :
(1) d,e,b,a (2) ¢,b,d, a
(3) b,ad,c (4) a,d,c,b

100. @l faud vgr anfer I faum frag w0

A qui @ ardh TR I R,

9.l 7 ufesmef 1 mvp sieadh I,
%.  adt 7 73 RkIwe Fga Im.

3. o N Eit ¥ adl-qot @it evE lieed ..

gatdt 39 ;
(1) 1,93 ' 2 3,49 %
3) ¥,%,3 4 8,9, %

Read the following statements and select the suitable ones.
a. Purnariver is a tributary of Tapi river.

b. Tapi river known as western-flowing river.

c. Tapi river flows in the Eastward direction.

d. Tapi river basin is known as Tapi-Purna basin.

Answer options :
(1) a,b,d : (2) a,b,c
(3) b,c,d (4) d,b,c
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A — (ger1veg.....)

®) WAl fifte Feew Rftte o 5= am (5 76) T3, Tgferefita ITRufihat a1 T
FIERR F FH HeAE § HA 0T RIMA Fe ML, 3@ WHSA TS § THER IERE TR
It Foew rhgmed ger omE ey SaeEe afufem-g2” o wgdeer $rad
Foa Y 7 Ift R bae T anieA wREETeA M /R T O gaR @ e dw
EiERECH -

(9) W yrAuBFErdt smarm fafgq Foel 2 FoegER RN & IFIFRE EEIUR TR
USH WEE TEET TR, W Gl Awarge| SHedwi Siaedl IwieeT W1
wHAgETEE 7 e wa o sravaE AR

. %. 201.

W. 3. 201,

AT TR
il we TR woaEEt Fifl germ: swe w9 2
() i qaR T @) e femmarr
(3) T THAEA U3 (4) ThuTEF MEd
T WA A I C(3) T REE Gd o SR, e 3 W I 3) @
Thad TIATTHT 9% 3. 201 TS IHbA® @) B dde TIUU SHifRd HEA
TN AT AR

© ® @ ¢

M TGAR Teqd SReTRde St WeATST gl ST-HHIS 8 gReren Wi e
IRIBFIS @ @ WITHHEENT qafva ade i ewifha e qEamEn. gt
Wa HIET VTR arerds arard, Uf e a1 vmde O aras .
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